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T (1) =9 9= o ot uie faem € |
(2) W v S fora sitEd © |
(3) afert 3R wesAi o few 7
Instructions : (1) This question paper contains five section. Each section carries twenty (20) marks.
(2) All question are compulsory.
(3) Marks are indicated at the right side of the question paper.

| (fawmr-A) |

° STENTAREATT U= 3TTaTE Fed | (AT g )
12 20l yarvididl stdate 3. (SiSue &)
Frafafer werevet @ srare wift : (fad )

Translate the following verses. (Any Two)

(1)

()

@)

(4)

7 fh: yoraRergdetd |

fodl Femh g & <8 S=Tor ;0|
T PHLIAEHE AU |

T Fgreh 3TE T SIS el 79 )
ATl = ehiqeherd! faern = ferem

AR IR FIG T |

e fargfa anfifor gfvame

EERR R R Cill]

M Iibegal fareT gfadtaar |
et wdaefd |
AR “l‘-‘«\“'e'lldsmdﬁ“‘l o |

S Aot SaatEE: )
FeNfAfaae HhausTe I {&hd o= |
{12 U4 A5 Uil GriR ArgdAHL Quil.

frAfafea &hd 757 o S| G&had fafas;

Answer the following question in Sanskrit language :

T9: P THA ?
GRE)
Teq s fopr a1 ?

()

[08]

[02]
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o IRl VTSI SUR faavunterent feuuutt feram |
{12 putal goel ur [dareucts Hid quil.

frfafed vreat W faerumaes feuft fafa
Write an explanatory note on the following words.

(5) T 3TaT HILE: [02]
o TEE qfd A |
sefls Yol $3.
seireh 0 feRfT |
Complete the verses :
(6) AT .oooverernn, | [03]
...................... e Il
3rerar
(6) T WA oo |
................... @A ||

o 3T UM faeheusa: 3fad fashed faeam o7 forad |
12 2puaL s [@sensigl 20y [Qsey il w1l [Qsey dvil.
feu 7@ wsi & faseu § 9 3fad foeey @ee 9&t fameq fafa |

Find out the correct option from the given options and write the answer.

(7) HFER T hig Fdd ? [01]
(A I8 (B) THITH (C) g (D) Y

8) THaR: =@ 7 swf< ? [01]
(A) e (B) IS (C) X (D) =

(9) TR Higet wafq ? [01]
(A) TERIH (B) HETEE (C) TEIgEY (D) HIFH,

(10) o gEaTfor gt ? [01]
(A) Torfew: (B) Wf3rerem: (C) o (D) T

(1) vag fird f faq sif 2 [01]
(A) e (B) st (C) T (D) H,

(faur-B)
o INEfARGAT TEEUSH AR %&d | ( HIATHA gal: ) [08]

2 >udar oEvidle eudidz 53 (SiSua &)
frfafea e & e S (et ) |
Translate the following passages (Any Two)

(12) Toemerd qm; dfasrm sguani | o Hee o O EaEE 799 93t | 7T 9 7
T | e A agHed THa gxadl: T | dW xRl 318 TRl gEmgeany
ety FAry Ageenty | Fq fe wfy R Imw o 1 @it |
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(13) qGUCYI S 3T TMeien: <l g§: TadTee: 7 %o faamygfa: ? o0 =aer
e feE: 3 TRy S Gavichg shui o e aqH S | o ¥ 3fdie gifa: | 4
T TG FAHSTH | e TR T YA UIehg huTH 3¢ el |
(14) IsEE: - oA wwudifd ?
Whed: - T YSHH FHRR: < | 35 grudt dfeswe faarefad: s |
ToE: - et fae R st
Whed: - A faeh a9ert Sg AT $9t, Taaml TafTaeTe er: THNE |
T THHT TRl T T 9eHTed o Sw9e e |
o IEUTAT USTEI HERAHTHET 3T o |
{12 24Tl UL FALoL AGAUL Quil.
Frefafad 959 o S d&ha 9 | fafraw
Answer the following question in sanskrit language.
(15) TSI Sid g1 O 9 o 2 [02]
gl
(15) A=A STRIGHTSTE TATT1 FF Fidll ?
o faavunfarert femuft forem |
[Qazeies iy dvil.
forerumees Aie fafaT
Write an explanatory note:
(16) TNdYRl:  Agal  GEhR: [02]
o I Neheee T Ufd Fe |

12 20t viell xoulL Y.

frfafed fepaeem o ‘{[irl whIfTa;

Fill in the blanks for the following :
(17) TAHTEL v, U Wi ? (TG, 7IE) [01]
(18) URfEToRy Y Yafaromat ............... qdcd Tafd | (SRE, HA:) [01]
(19) STIFGHEL STHFIR ... | (fosr, faerad) [01]

e 3Tl UoATHT faaheus: 3ferd farered e 3w forfiaa |
12 2puaL g [@seqsigl 1oy, [Qsey ikl w1l [Qsey dvil.
frfafed st o fasked § ¥ T2 foshed g S fafaT |

Find out the correct option from the given options and write the answer.

(20) wefaron Sree" | fo giad wafa ? [01]
(A) TRa: ywog (B) IRa: MY (C) THT TIfc: (D) 3T THIY
(21) qarar: qafererEn: fead qoad ? [01]

(A) RdBZhH (B) HeHE®WIhH (C) AT®IRH (D) ®ERHEH

(4)



(25)

R kau| X

(26)

(27)

(28)

(29)
(30)
(31)

oA HILAAS 24 B2 HiE[Hs (D e, diEl-R

IR = gF=sid ? [01]
(A) =RCH: (B) TH=TE (C) fogmer: (D) it

el &g I ? [01]
(A) Tafae (B) shT&A (C) forsharex (D) ATRRH
TRTIE o Tfad qfyeRy Ieamafag & weafd ? [01]
(A) Fs=H: (B) MRk (C) It (D) TeTgA:

[ (fawmr-c) |
LN TTERAUE UfSTaT Hiehed WA SAUUT Heghasrora fera | [04]

{12 2utal dtervisn, aizfln Agd Ul B ArgdHl Quil.
FrAfafEd 9i=ee # e §Ehd U5l o ST Hehd oo | fafay |

Read the following passage and answer the sanskrit questions in sanskrit language.

STERI T UTea AT | shrtstt ge1 g tat=i | fafroere aemes arquen: gemn: gam:
qRAY I AfgEeead s Jaafd | Urei-ehel Tat: GgT Gavre, ISTaee aet =i
forferem: STre | It I ST e Faferdr 7 $TrE |

(A) RIS HaT Shiget 31 ?

(B) H H&I UrHHaq Al ?

(C) YTHIRIA Hel: shiged: 3T ?

(D) ARAEY STHEAT: T FANT: hid ausd: Jaard ?
weteTfereRt feuruit forae | (it gan: )
latiens Al avil. (51SueL é)
rftereden A4 fafae | (fre <)

Write the critical note (Any Two)

ERICIE RIS [06]
eI -GS Rl Hellg

Dialogue between yaksha and yudhistira.

Hale Al 14 Hew

g1 o dfaea iR Hew

Variety of currency and its importance.

“e[W sulriedl Guzal

&l <AHe W STew

Maharshi Dayanand's Preaching.

3reites e Tieut god | (AT g ) [06]
A3 2ule queed Anadl. (ASue 6)

Frefafea weed w18 =i | (fR=t )

Explain the following with reference to the context. (Any Two)
BRI ERIEEIRIL

3N @ 9gH IS TREd |

ERRCUEC R

()
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o (32) NENfAREAT STFIT THAFHFHATTAR I: foram | [04]
12 Ut disAla sAasHL s34 uHeL 3 quil.
frefafad STl i e & SHATTER 44 fafea |
Write the following sentences according to sequesnce of the story.
(A) Tu: AT 3 e TsrEwi forafside |
(B) TANSH! Ju: eshrel W0 FHUae |
(C) a: |: qafcrHi oty foghs Teafq |
(D) =T 1 Yafcie: e TeHRT=SI |
| (fawmrD) |
o SrEfalEay = ufewar WA SARUT WEhauTaT feree | [04]
{12 20l $520 aiafl 20 Wlinl FALGL AEAHL Avil.
Frefafed sTIwse Jea QU T g5 o IR Hpd ¥ fafad |

Read the following passage and answer the sanskrit questions in sanskrit language only.

(33) HTdeel! ATHE: TTH SE | T S8 Forp: o< T | Iu7 dievre=: TH J5: TR
ST | W] TRAMT TEI=s] T | . TR0 G ¥ STevag - ‘% geeh
IATREAT: U] Ui | AAReAl S S TT9eTy | TR T qUagTars Sheieg
Tty | HE Uy g s’ |

el

(A) FF T Forpll: TET W ?

(B) : APV ST ST 2

(C) iRl P T HIgAH ?

(D) ieue=a: fohm U= ?

o 3T WA TSTTHTHIET STTUT forae |
120 20l WAL B AUl HIMHL vl
frefafed g & S fedt am o fafew @

Answer the following questions in English.
(34) Ul i dpeell-dl oL Sl ey ? [02]
1o TR e o il &hiF ¢ 2

Who is the friend of traveller and householder ?

(35) He@ilut ‘e ael-l sul el flhl ? oL Hie ? [02]
7T ‘] vl R e forn 2 /i 2
What meaning did men took for ‘T’ letter ? why ?

(36) Azl oloidHi Y152 9 (AR © ? [02]
TeE % aR W YU o Fiedl € 2
What does the traveller think about doubt ?

o Irdfawr FEd |
AR 53U

AR fHT |
Expand the Idea.

(6)
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(37) i TwfEaTe WoM: W Al S | [03]
Gf et TREMS TG FG T T T |
e
(37) Toramem T o SERRE= e |
et T@e 3 T S T @ H NI
° WWWHTE%WI

12 >ute viel ¥oulL Y.

TrefafEa Eret e Rk |

Fill in the blanks.
(38) A H oo Qg | (3=, ) [01]
(1<) q W gfaaeanty | (I, a9mgs) [01]
(40) TAH STHSIH ..o ? (3@, g@W) [01]

o IneNfefEdr seleriyT M= |
A2 200l 2alsiaA sl
frafafea e Sifeu ¢
Match the following verses. [04]

) dgeH <9 frede: - 7 = Aivtesfa 2o |
(42) IS eI Toh - STERIG Sfear IoT: |
) AIGeh TR AT - et = foaiq o= |
) TR AN BIg; - Serera fege |

[ (fawm-E) |

o ufieranferent feuutt foraa | (wnfyya gam:)
uRAALAHS it dvil. (S1SusL 6)

R feoft fafan @ (fre <)
Write introductory notes. (Any Two) [08]

(45) HETHRTH

(46) Tedmem:

(47) TeIRieH

o T WY FHEA |
1Y AHAAL.
= FHEAET ¢ |

Explain the maxim.
(48) TUHEA: e HUSH G [02]
° (49) “Hr™ Uldlel A% AL A0l Aval Add UdL 5L 897 AL Gllotd AHAAAL [01]
UL Y Gula(l 9 ?
- T I 37T A TIHTE ol S T o T Fier 9o oid €' 3 Tosi 3 ferg shieran

(7)



(50)

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)
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I ST ?

Which Nyaya is important to understand that a person should always try to keep up his noble
nature.

(A) SYEAM: (B) AMARMa=™:  (C) U= (D) ST
‘o 512 g Al dui gt A sl w1ed Ul -y ? [01]
~ ‘S o BHN TR § S TifdfatE § il 9 2 A i =g © 2

- In which Nyaya it has been depicted that 'One must not get involved in an activity which
is not his.'

(A) STHAUR-HAMR =I™: (B) foaqumam:  (C) Susr=am: (D) SIFARTET=™:

Ul 98l g@ Sedl Hisll €l 9 ? [01]
- a7t e H ferat | et © 2

- How many total 'matras' are there in' 3T ' metre ?

(A) 12 (B) 40 (C) 33 (D) 57

‘meTe: R fyafa Fed iR TR’ | ulZiul 84l e Aiv @vil., [01]

- ‘mere: &R fafa ged o meR’ | Ufe | ) 9 % W fafay |
- ‘mere: &R fafa ed aik 99 | Tell the name of the Metre.

(A) SHdfdeTeR (B) Terafon (C) 3T (D) oIy

sy vl 51241 [l oe-dl ualoL iy 9 ? [01]
— FIY sTeter # fgarefl e w1 WM A B 2

- In which Figure of speech there can be more than one meaning of a word ?

(A) SUH (B) = (C) Sede (D) ST

‘o [QRH A €lall 19di (A4 salaauml Ul Sl AR 58l AEASIR o1 €9 ? [01]

et e f B % e ol wefird R &' ae i | STeR S § 2

- 'Where there is no contradiction but where the words showing contradiction' which is this
figure of speech ?

(A) A== B) faerEnte (c) Tt (D) TR
AR ld UL AR UYdEAL 326l 2iol © ? [01]
T TR STTHR A o fohae o771 7 2

How many branches of Ayurveda's are according to Indian tradition ?
(A) 4 (B) 8 (C) 12 (D) 16

25711 URLg A2 AL UL, [01]
= & UG Ty H A IR |

Name the charak's famous Granth.

(A) ggadfea (B) =RehEfed (ORIEEEN (D) HTHAMEHH
osL[aMe 2lsf 1oL Hir AL 2419 €9 ? [01]
Y R S AT 9 ?

Whose part is Astrology considered ?

(A) TIREUIFEN (B) SUMYSH, (C) oITHY (D) STRUIHI-AHH
AASAIER 5L UH BUIAS el ? [01]

RTeffeR fohdeh TR U o ?
Whose supreme worshiper was varahamihira ?

INEREE] (B) g (C) feroy (D) A
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